o2 24 /BAC = 90° o],
BCLAHOo|t}, /CAH = xzt & uj,
tan x 9] ZF&?

)
@

)
®

©)

Ot >

S| W | Do
O | U | W



2. o2 I o]835t tanx 9 FES

T-stefzt. .

Ly 30
@2‘2\/5 @3‘2‘/§ ®2-v3
@ 2(1%2@ ©) 30 _3 V3)



3.

3
SinA = 1 A o, cosA + tanA 9] g9

® 16 V7 ® 177
27 27
197 207

28 ® 27



the e @ el Zeolrt 2 o3&
Aoty /CEG = x & o, sin x 4 cos x 9
%e Pora?

@\/é—gx/é ©\/€;\/§




B @74%—3— o] BE EE oI5
AAED:)C ] o, tanxiﬂ 427

o&d

V23 2423 3v23
o B 2V 323
@ 1% ©® V23



6.

cos 60° X tan 45° + sin 60 © < AASIA?

@ V6 @? ®

<[ %

2,



7.

TR 173 2ol W5 Zolrh 1 el AR A $7 &

E

// z

l/ C

; ]

\\\ /

\ B D

@ tanx = DE @ siny=AB ® tany =
@ sinz = AB 3 cosz = BC



@ cos 80° © cos 0° © tan 0°

® cos 27° © sin 15°

© 0606060 2 0.6,6,0,.0
® 9,6.0,0,e ® ©06,0,e,0
® O, 6,0, 0,




the 297 2ol LC = 90° 9 A7
29 ABC 94 AC 9] Zol& Fote
Al O 9
o
@ 5sin40° @ 5cos40°
)
5 tan 40° tan 40°
©) an 40 @ tan 40°
sin 40°

© —




10. thg 97 Zo] AWe] 4402 A g LRk Bel4 et 500
o] 742 ol2A Hgiet. o] W, Ag o] Fol?

D 43 @ 843 ® 12v3 @ 16V3 G 20V3



11.

o2 132] AABC °|A AH 2] Zo] A

9

@ 25(V3-1) @ 25(3 - V3) ® 25vV3-1
@ 50V3-1 ® 50V3+1



12. & 1989 AABC oA A =30°, /CBH = 60°, AB =40 ¢ T,
AABC 9] Hlo]=?
A\~4o—"’

@D 20V3 @ 2003 ® 4003
@ 6003 3 8003



13. o3 1" AABCY Hol&=

® 7V2cm? @ 14vV2cm? ® 21v2cm?
@ 282 cm? B 56 V2 cm?2



?

AP e] ol

2

Rz

14. o= 22

@ 46 3 56 @ 48 3 60

@D 54



15.

ohe 193 2 A2HE ABCD 9] Hol
= ’;LO]'EH{?

D 1243 @ 11Vv3 O 10v3 @ 93

® 843



